
Name: ________________________  Score: __________

copyright:    www.mathinenglish.com

Rounding Off to Nearest 1,000

Circle the correct answers.

500 rounded off to the nearest 1,000 is..

a.   0

b.   500

c.   1,000

420 rounded off to the nearest 1,000 is..

a.   0

b.   400

c.   1,000

1,400 rounded off to the nearest 1,000 is..

a.   1,400

b.   1,000

c.   2,000

1,900 rounded to the nearest 1,000 is..

a.   1,000

b.   2,000

c.   1,900

2,099 rounded off to the nearest 1,000 is..

a.   2,000

b.   3,000

c.   2,090

3,500 rounded off to the nearest 1,000 is..

a.   3,000

b.   3,500

c.   4,000

4,321 rounded off to the nearest 1,000 is..

a.   4,000

b.   4,300

c.   5,000

5,755 rounded off to the nearest 1,000 is..

a.   5,500

b.   6,000

c.   5,000

10,388 rounded off to the nearest 1,000 is..

a.   11,000

b.   10,300

c.   10,000

11,098 rounded off to the nearest 1,000 is..

a.   11,000

b.   10,000

c.   11,100

21,568 rounded off to the nearest 1,000 is..

a.   20,000

b.   21,000

c.   22,000

98,624 rounded off to the nearest 1,000 is..

a.   98,000

b.   99,000

c.   100,000
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Answers
Circle the correct answers.

500 rounded off to the nearest 1,000 is..

a.   0

b.   500

c.   1,000

420 rounded off to the nearest 1,000 is..

a.   0

b.   400

c.   1,000

1,400 rounded off to the nearest 1,000 is..

a.   1,400

b.   1,000

c.   2,000

1,900 rounded to the nearest 1,000 is..

a.   1,000

b.   2,000

c.   1,900

2,099 rounded off to the nearest 1,000 is..

a.   2,000

b.   3,000

c.   2,090

3,500 rounded off to the nearest 1,000 is..

a.   3,000

b.   3,500

c.   4,000

4,321 rounded off to the nearest 1,000 is..

a.   4,000

b.   4,300

c.   5,000

5,755 rounded off to the nearest 1,000 is..

a.   5,500

b.   6,000

c.   5,000

10,388 rounded off to the nearest 1,000 is..

a.   11,000

b.   10,300

c.   10,000

11,098 rounded off to the nearest 1,000 is..

a.   11,000

b.   10,000

c.   11,100

21,568 rounded off to the nearest 1,000 is..

a.   20,000

b.   21,000

c.   22,000

98,624 rounded off to the nearest 1,000 is..

a.   98,000

b.   99,000

c.   100,000


